仕訳問題　その１　（解答）
仕訳問題　その１　（解答）

	
	仕　　　　　　　　　　　　　　　訳

	
	借　方　科　目
	金　　　額
	貸　方　科　目
	金　　　額

	1

	積送品
	525,000
	仕入
現金
	500,000
25,000

	2

	当座預金
創立費
	7,800,000
300,000
	資本金
現金
	7,800,000
300,000

	3

	別途積立金
	2,500,000
	繰越利益剰余金
	2,500,000

	4

	受取手形
割賦売掛金
	80,000
120,000
	売上
	200,000

	5

	当座預金
	470,000
	未払金
売掛金
	280,000
190,000

	6

	社債利息
社債
	40,000
5,000,000
	社債
当座預金
	40,000
5,000,000

	7

	退職給付費用
	880,000
	退職給付引当金
	880,000

	8

	不渡手形
	480,000
	受取手形
現金
	450,000
30,000

	9

	損益
	1,200,000
	繰越利益剰余金
	1,200,000

	10

	貸倒引当金
貸倒損失
	180,000
170,000
	売掛金
	350,000


※　仕訳1つにつき1点×10問＝10点満点






